PROFESSIONAL

MBS 1100 - 186269

P'\i, S Ref.No. Description P,ﬁ : Ref.No. Description
1 186690 Cross Recess Head Screw M4X10 41 186726 Roller Shaft
2 186691 Roller Cover 42 186727 Lock nut M3
3 186692 NutMI10 43 186728 Power Cord 1.0\4.2m VDE
4 186693 Drum 44 186729 Cord protector
5 186694 Ring ®28 45 186730 Cord clamp
6 186695 Rollersleeve 46 186731 Capacitor 0.22uF
7 186696 Bearing 6001-2Z 47 186732 Switch 6(6)A 250V-5E4
8 183448 "U"ceramic 48 186733 Washer ®5
9 186697 AlBracet 49 186734 Washer ®5
10 183479 Needle BearingHK081210 50 186735 Cross Recess Head Screw M5X16
11 186698 Washer ®8 51 186736 Dustbag
12 186699 Oil Sealing 52 186737 Dust extraction port
13 186700 Small Gear 53 186738 Small Pulley
14 186701 Bearing 628-RS 54 186739 Belt Cover
15 186702 Gear cover 55 186740 Belt 124xLx12
16 186703 Big Pulley 56 186741 Left Housing
17 186704 Cross Recess Head Screw M5X12 57 186742 Bearing 629-2RS
18 186705 Retaining Washer ®5 58 186743 Bearing cover
19 186706 Adjustment Knob 59 186744 Screw ST3.0x10
20 186707 Knob spring 60 186745 Armature ®41x50
21 183441 Screw ST4.1X16 61 186746 Fan baffle
22 186708 External Circlip 12 62 186752 Miiddle & Right Housing
23 186709 Big Gear 63 186747 Screw ST4.0x65
24 186710 Square piece 4x4x12 64 186749 Field
25 186711 Wave Washer ©12 65 186750 Dust Deflector Cover
26 186712 Gearshaft 66 186753 Screw ST4.0x30
27 186713 Fork Spring 67 186754 Screw ST4.0x76
28 186714 Plastic spring sleeve 68 186755 Pad
29 186715 Spring sleeve 69 186756 Base Sheet
30 186716 Washer ®3 70 186757 Base
31 186717 Spanner Piece 71 186758 Washer ®4
32 186718 Cross Recess Head Screw M3X10 72 186759 Brush Support
33 186719 Clamp Device 73 186760 Carbon Brush Assy
34 186720 Spring 74 186761 Spring Sleeve
35 186721 Pin ®2 75 186762 Rupper Piece O5x7
36 186722 Spring Sleeve 76 186763 Screw ST3.0x10F
37 186723 Spanner 77 186764 Washer 4
38 186724 Roller 78 186765 Connection Wire 160mm Insert+6.3
39 183496 Bearing 608-2Z 80 186689 Cross Recess Head Screw
40 186725 Fork
79
> % Mgrély1f1%r0E
e \ Y
—
<
186771 zfjiji 32 186768
SPARKY POWER TOOLS 2018 @ 7



	Button 5: 
	Page 72: 



